Nombres Carrés (I)

Nom:

642 =

942 —

512 =

83°=__  52°=__
70°=__ 14 =__
11°=__ 62°=___
57°=__  95%=__
726 =_ 21 =__
2= 39°=___
53*=__ 38 =___
100% = 42% =

Date:

Trouvez le nombre carré de chaque nombre suivant.

4372

372

602

452

982

442

352

Résultats:

/32
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Nombres Carrés (I) Réponses

Nom: Date:

Trouvez le nombre carré de chaque nombre suivant.

32= 9 83%2 = 6889 522 = 2704 432 = 1849

64% = 4096 702 = 4900 14 = 196 372 = 1369

942 = 8836 112 = 121 622 = 3844 602 = 3600

512 = 2601 572 = 3249 952 = 9025 452 = 2025

52 = 25 72%? = 5184 21%2 = 441 98%2 = 9604

18%2 = 324 242 = 576 392 = 1521 44% = 1936

1= 1 532 = 2809 382 = 1444 352 = 1225

132 = 169 1002 = 10000 42% = 1764 73%2 = 5329

Résultats: /32
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